
CHEMISTRY

BOOKS - CBSE COMPLEMENTARY MATERIAL

CHEMISTRY (HINGLISH)

HYDROCARBONS

Multiple Choice Questions

1. Which of the following compound has zero dipole

moment?

A. cis - But - 2 -ene

B. trans - But - 2 - ene

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DXCVli8OAgTd


C. But - 1 - ene

D. 2 - Methylprop - 1 - ene

Answer: B

Watch Video Solution

2. Bond length of ethane (I), ethene (II), acetylene (III) and

benzene (IV) follows the order

A. 

B. 

C. 

D. 

I > II > III > IV

I > II > IV > III

I > IV > II > III

III > IV > II > I

https://dl.doubtnut.com/l/_DXCVli8OAgTd
https://dl.doubtnut.com/l/_3199pH80eGv7


Answer: C

Watch Video Solution

3. The methyl group in benzene ring is :

A. Ortho directing

B. Ortho and meta directing

C. Para directing

D. Ortho and para directing

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3199pH80eGv7
https://dl.doubtnut.com/l/_TnY8HWB9jcmZ


4. The dihedral angle between the hydrogen atoms of two

methyl groups in staggered conformation of ethane is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

120∘

60∘

0∘

90∘

5. On heating  in red hot copper tube, the compound

formed is :

C2H2

https://dl.doubtnut.com/l/_xumbfyn4cM4e
https://dl.doubtnut.com/l/_e1ZdFoqXt12q


A. Ethylene

B. Benzene

C. Ethane

D. Methane

Answer: B

Watch Video Solution

6. Action of acetylene on dilute  gives

A. Acetic acid

B. Acetone

C. Acetaldehyde

H2SO4

https://dl.doubtnut.com/l/_e1ZdFoqXt12q
https://dl.doubtnut.com/l/_MaH8BW6fb6Uk


D. Ethyl alcohol

Answer: C

Watch Video Solution

7. Which of the following compounds will exhibits trans

(geometrical) isomerism ?

A. Butanol

B. 2-Butyne

C. 2-Butenol

D. 2-Butene

Answer: D

W h Vid S l i

https://dl.doubtnut.com/l/_MaH8BW6fb6Uk
https://dl.doubtnut.com/l/_ZXhVCbY9hSgd


Watch Video Solution

8. Hydrolysis of ozonide of but- -ene gives

A. Ethylene only

B. Acetaldehyde and formaldehyde

C. Propionaldehyde and formaldehyde

D. Acetaldehyde only

Answer: C

Watch Video Solution

1

9. Reaction of hydrogen bromide with propene in the

absence of peroxide is a/an

https://dl.doubtnut.com/l/_ZXhVCbY9hSgd
https://dl.doubtnut.com/l/_w63XjWwPe9nd
https://dl.doubtnut.com/l/_zhK8l3FAh5cD


A. free radical reaction

B. nucleophilic substitution

C. electrophilic addition

D. nucleophilic substitution

Answer: C

Watch Video Solution

10. Among the following compounds the one that is most

reactive towards electrophilic nitration is

A. Benzoic acid

B. Nitrobenzene

C. Toluene

https://dl.doubtnut.com/l/_zhK8l3FAh5cD
https://dl.doubtnut.com/l/_p2W1u89u9fJJ


Fill In The Blanks

D. Benzene

Answer: C

Watch Video Solution

1. Alkanes mainly exhibit ______ reaction .

Watch Video Solution

2. Halogenation of alkanes does not occur in …………

Watch Video Solution

https://dl.doubtnut.com/l/_p2W1u89u9fJJ
https://dl.doubtnut.com/l/_3Ydgwu2kM98F
https://dl.doubtnut.com/l/_LufhwC2p95AK


3. The H - C -H bond angle in ethene is …………

Watch Video Solution

4. The addition of HBr to an unsymmetrical alkene takes

place in accordance with …….. Rule.

Watch Video Solution

5. Bayer's reagent is used for testing ………

Watch Video Solution

6. Benzene favours ……………. Substitution reaction.

https://dl.doubtnut.com/l/_5fEAAx5TlRnc
https://dl.doubtnut.com/l/_LnBxNZSWoUei
https://dl.doubtnut.com/l/_Lb2uf1v8MaJe
https://dl.doubtnut.com/l/_sC19kL79SQUs


Watch Video Solution

7. The Dipole moment of Benzene is ………..

Watch Video Solution

8. The nitro group in the benzene nucleus is ………. Directing.

It ……………. The reactivity of the benzene ring.

View Text Solution

9. Melting point and boiling point increase as the molar

masses …………..

Watch Video Solution

https://dl.doubtnut.com/l/_sC19kL79SQUs
https://dl.doubtnut.com/l/_QcVGg1ysa0oe
https://dl.doubtnut.com/l/_AnuZNQ3KX9SJ
https://dl.doubtnut.com/l/_seFJaO4IecB7


True And False Type Question

10. The reaction of solid calcium carbide with water

produces ………….., a flammable gas.

Watch Video Solution

1. Alkanes mainly undergo substitution reactions using the

free - radical mechanism.

View Text Solution

https://dl.doubtnut.com/l/_seFJaO4IecB7
https://dl.doubtnut.com/l/_PsY7DDY5aAhU
https://dl.doubtnut.com/l/_Uokb9nrngQK8


2. Arrange the following in the decreasing order of boiling

points 

(i)n-Pentane (ii) Iso-pentane (iii) Neo-pentane

Watch Video Solution

3. The acidic character of three types of hydrocarbons

follows the order alkanes gt alkenes gt alkynes.

Watch Video Solution

4. The peroxide effect is observed in case of HBr and not

with HF, HCl or HI. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_yreCVmA3OblR
https://dl.doubtnut.com/l/_wxIsHU4Fsee1
https://dl.doubtnut.com/l/_n33OWnk12BIr


5. Wurtz reaction is suitable of the preparation of both

symmetrical and unsymmetrical alkanes.

Watch Video Solution

6. For a compound to be aromatic it must have 

electrons.

Watch Video Solution

(4n + 2)π

7. Benzene has planar structure.

Watch Video Solution

https://dl.doubtnut.com/l/_n33OWnk12BIr
https://dl.doubtnut.com/l/_sfL8CJjHHqsB
https://dl.doubtnut.com/l/_XeUoMHjDHDlI
https://dl.doubtnut.com/l/_5mxWc6Ih2eko
https://dl.doubtnut.com/l/_jCXZDDTzPBh4


8. The benzene molecule has two different carbon - carbon

bond lengths, corresponding to alternate single and double

bonds.

Watch Video Solution

9. In Friedel - Crafts reaction,  is an electrophile.

Watch Video Solution

AlCl3

10. An electron - donating substituent in benzene ring gives

a meta product.

Watch Video Solution

https://dl.doubtnut.com/l/_jCXZDDTzPBh4
https://dl.doubtnut.com/l/_SAvN3yIVF8Ye
https://dl.doubtnut.com/l/_PsIyppcZICtA


Match The Columns

1. Match the statements (a, b, c, d) in column I with the

statements (I, ii, iii, iv) in column II. 

Watch Video Solution

2. Match the statements (a, b, c, d) in column I with the

statements (I, ii, iii, iv) in column II. 

https://dl.doubtnut.com/l/_jHUqkSxZRn9n
https://dl.doubtnut.com/l/_plyJrwzJ0K2E


Assertion Reason Type Question

Watch Video Solution

1. Assertion : The IUPAC name of

 is pent - 3 - en- 1 - yne and not

pent - 2 en - 4 - yne. 

Reason : While deciding the locants of double and triple

Bonds, lowest sum rule is always followed .

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

CH3CH = CH − C ≡ CH

https://dl.doubtnut.com/l/_plyJrwzJ0K2E
https://dl.doubtnut.com/l/_aoqRTvrErvu5


D. If assertion and reason both are incorrect.

Answer:

Watch Video Solution

2. Assertion : Tropylium caption

 is aromatic

in character . 

https://dl.doubtnut.com/l/_aoqRTvrErvu5
https://dl.doubtnut.com/l/_yMttpj1FxI8y


Reason The only property which decides the aromatic

character is its planar nature.

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

D. If assertion and reason both are incorrect.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yMttpj1FxI8y


3. Assertion : Fredel - craft reaction between benzene and

acetic anhydride in the presence of anhydrous  yields

acetophenone and not poly - substituted products . 

Reasons : Acetophenone formed poisons the catalyst

preventing further reaction.

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

D. If assertion and reason both are incorrect.

Answer:

W t h Vid S l ti

AlCl3

https://dl.doubtnut.com/l/_XIDHYpulpcBF


Watch Video Solution

4. Assertion: But-1-ene on reaction with HBr in the presence

of peroxide produces 1-bromobutane. 

Reason: It invovles the formation of a primary free radical.

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

D. If assertion and reason both are incorrect.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XIDHYpulpcBF
https://dl.doubtnut.com/l/_BZtnQKlKAcLC


5. Assertion : Alkanes with more than three carbon atoms

exhibit chain isomerism. 

Reason : Branching of the carbon atom chain is necessary

for exhibiting chain isomerism.

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

D. If assertion and reason both are incorrect.

Answer:

h id l i

https://dl.doubtnut.com/l/_BZtnQKlKAcLC
https://dl.doubtnut.com/l/_59tPrHG60kai


Watch Video Solution

6. Assertion : Benzene reacts with chlorine in the form of

light to form BHC. 

Reason : BHC is also called gammexane or 666

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

D. If assertion and reason both are incorrect.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_59tPrHG60kai
https://dl.doubtnut.com/l/_3yjQYSjiEJJP


7. Statement-1: All the hydrogen atoms in 

lie in one plane. 

Statement-2: All the carbon atoms in it are not 

hybridized .

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

D. If assertion and reason both are incorrect.

Answer:

CH2 = C = CH2

sp2

https://dl.doubtnut.com/l/_3yjQYSjiEJJP
https://dl.doubtnut.com/l/_zmpdEYi4cBnR


Watch Video Solution

8. Assertion  Propene reacts with  in presence of

benzoyl peroxide to yield  bromopropane. 


Reason  In presence of peroxide, the addition of  to

propene follows ionic mechanism.

A. If both assertion and reason are correct and reason is

correct explanation for assertion.

B. If both assertion and reason are correct but reason is

not correct explanation for assertion.

C. If assertion is correct but a reason is incorrect.

D. If assertion and reason both are incorrect.

Answer:

: HBr

1 −

: HBr

https://dl.doubtnut.com/l/_zmpdEYi4cBnR
https://dl.doubtnut.com/l/_SjFRCuWT9sZv


One Word Type Question

Watch Video Solution

1. What is the state of hybridisation of Carbon atoms in

alkanes ?

Watch Video Solution

2. What is self linking property of atoms called ?

Watch Video Solution

3. What is the general formula of alkene ?

https://dl.doubtnut.com/l/_SjFRCuWT9sZv
https://dl.doubtnut.com/l/_o6DOpVqJdM2I
https://dl.doubtnut.com/l/_ugW2ZCO8V6d1
https://dl.doubtnut.com/l/_phBzIZXaVBAm


Watch Video Solution

4. What is the other name for Geometrical isomerism?

Watch Video Solution

5. Which out of Ethane, Ethene and Ethyne has longest C - C

bond ?

Watch Video Solution

6. What is the number of  and  bonds in But - 3 - en - 1 -

yne?

Watch Video Solution

σ π

https://dl.doubtnut.com/l/_phBzIZXaVBAm
https://dl.doubtnut.com/l/_CI8Oytj5JttV
https://dl.doubtnut.com/l/_FJ50bgZPDCba
https://dl.doubtnut.com/l/_tQI7ug6G5hqc


7. Propyne is treated with aqueous  in the presence

of . The product formed is

Watch Video Solution

H2SO4

HgSO4

8. The  bond angle in benzene is

Watch Video Solution

C − C − C

9. Name the product formed when benzene reacts with

 in the presence of anhydrous aluminium chloride.

Watch Video Solution

CH3Cl

https://dl.doubtnut.com/l/_tQI7ug6G5hqc
https://dl.doubtnut.com/l/_FyO9VubaMVwJ
https://dl.doubtnut.com/l/_P36Ay0Wpyw6Q
https://dl.doubtnut.com/l/_R1ISJAPKO5mf
https://dl.doubtnut.com/l/_HYmMuwZ7KkSW


1 Mark Question

10.  is ortho, para directing or Meta directing

group ?

Watch Video Solution

−COOH

1. Name the chain isomer of  which has tertiary

carbon atom.

Watch Video Solution

C5H12

2. Give the IUPAC name of the alkane having the lowest

molecular mass that contain a quaternary carbon.

Watch Video Solution

https://dl.doubtnut.com/l/_HYmMuwZ7KkSW
https://dl.doubtnut.com/l/_GbFmRoVqw0fi
https://dl.doubtnut.com/l/_z7sYyiMXLXqI


3. Write the reaction involved in Kolbe's electrolytic method

to prepare ethane.

Watch Video Solution

4. Define term decarboxylation.

Watch Video Solution

5. Why dry ether and not water is used as a solvent in the

preparation of alkane by Wurtz reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_z7sYyiMXLXqI
https://dl.doubtnut.com/l/_dhRD6RuN2pcS
https://dl.doubtnut.com/l/_sGjPFPy7EKmj
https://dl.doubtnut.com/l/_OkvURw1eZ4Wv


6. Sodium salt of which acid will be needed to prepare

propane by decarboxylation?

Watch Video Solution

7. Complete the following reaction : 

Watch Video Solution

CH3Cl + Na
dryethe

−−−→

8. Amongst the following which one has the maximum

boiling point ? N-Pentane, iso - pentane, neo - pentane.

Watch Video Solution

https://dl.doubtnut.com/l/_mvZNakd07pp4
https://dl.doubtnut.com/l/_Q7WYkhJJiHqb
https://dl.doubtnut.com/l/_lqAE7vmqAikO


9. Define conformations.

Watch Video Solution

10. Write IUPAC name of

Watch Video Solution

CH3CH = CHCH2CH = CCH2
∣

CH2CH3

CH = CH2

11. Draw the cis and trans isomers of CHCl = CHCl.

Watch Video Solution

https://dl.doubtnut.com/l/_sAd5mDvwHoVR
https://dl.doubtnut.com/l/_dSmbMW8WBOgm
https://dl.doubtnut.com/l/_uCCm8KfWqMZN


12. What happens when 2- Bromobutane is being treated

with alc. KOH ?

Watch Video Solution

13. Complete the following reaction :

Watch Video Solution

CH3 − CH = CH2 + HBr
Organicperoxixde
−−−−−−−−−−→

14. An alkene ‘A’ on ozonolysis gives a mixture of ethanal and

pentan-3-one. Write structure and IUPAC name of ‘A’.

Watch Video Solution

https://dl.doubtnut.com/l/_qx0CJdgyROal
https://dl.doubtnut.com/l/_qs4NZ67NIBcd
https://dl.doubtnut.com/l/_kk52tg6eXtR9
https://dl.doubtnut.com/l/_oFf6Qcb00J4x


15. When alkyne is treated with bromine water then what

will be the colour of the product

Watch Video Solution

16. Why do alkynes not show geometrical isomerism ?

Watch Video Solution

17. Complete the following reaction : 

Watch Video Solution

CH3C ≡ CH
H2O ,Hg2+ /H +

−−−−−−−−−→

https://dl.doubtnut.com/l/_oFf6Qcb00J4x
https://dl.doubtnut.com/l/_uTwdInNWB0fx
https://dl.doubtnut.com/l/_EpiWPVSEdJHC


18. Complete the following reaction : 

 -------- + ---------

Watch Video Solution

CaC2 + 2H2O →

19. How will you convert ethyne to benzene ?

Watch Video Solution

20. Write chemical equation for combustion reaction of

Hexyne.

Watch Video Solution

https://dl.doubtnut.com/l/_qSZ4GFn0aFpS
https://dl.doubtnut.com/l/_13qkL8UThboh
https://dl.doubtnut.com/l/_8mA6jS9BOrc1


21. Write IUPAC name of

Watch Video Solution

C6H5 − CH2 − CH2 − CH = CH2

22. Why is benzene extra ordinarily stable though it

contains three double bonds?

Watch Video Solution

23. Write chemical reaction to exemplify Friedel - Crafts

alkylation of benzene.

Watch Video Solution

https://dl.doubtnut.com/l/_oJEf14o7WE8R
https://dl.doubtnut.com/l/_CnRRl1sDhaC5
https://dl.doubtnut.com/l/_DZLm6zwwB3kQ
https://dl.doubtnut.com/l/_swXlgjGjMehD


24. What is the nature of substitution in benzene ?

Watch Video Solution

25. Why  is

not aromatic ?

Watch Video Solution

https://dl.doubtnut.com/l/_swXlgjGjMehD
https://dl.doubtnut.com/l/_IxsXyN8JbEWV


26. C -C bond length in benzene is intermediate between C -

C and C = C why ?

Watch Video Solution

27. Starting from benzene, how would you synthesize m -

Bromonitrobenzene.

Watch Video Solution

28. Give one example each of o, p - directing group and m -

directing group.

Watch Video Solution

https://dl.doubtnut.com/l/_ga29RbXkVjtZ
https://dl.doubtnut.com/l/_NOtrs7rFqILj
https://dl.doubtnut.com/l/_mcX6GFklhhHX
https://dl.doubtnut.com/l/_AqLeKklF5I1K


2 Mark Question

29. Complete the reaction 

Watch Video Solution

C6H6 + CH3COCl
Anhy .AlCl3
−−−−−−→

30. The electrophile involved in the nitration of benzene is

Watch Video Solution

1. What is the effect of branching on melting and boiling

points of alkanes ?

Watch Video Solution

https://dl.doubtnut.com/l/_AqLeKklF5I1K
https://dl.doubtnut.com/l/_2zNUXb7EBkH9
https://dl.doubtnut.com/l/_8ca9yprXnNgn


2. What is the difference between isomers and conformers?

Watch Video Solution

3. Is it possible to isolate pure staggered ethane or pure

eclipsed ethane at room temperature?

Watch Video Solution

4. Draw Newman projection formula for conformations of

ethane.

Watch Video Solution

https://dl.doubtnut.com/l/_8ca9yprXnNgn
https://dl.doubtnut.com/l/_GhPEZeRoHGF3
https://dl.doubtnut.com/l/_8GB6XCaTr1L7
https://dl.doubtnut.com/l/_O7ISA3PgD9g0
https://dl.doubtnut.com/l/_X2beHSJ3L0Kt


5. How will you convert methyl bromide to ethane ?

Watch Video Solution

6. Wurtz reaction cannot be used for the preparation of

unsymmetrical alkanes ? Give reason

Watch Video Solution

7. How can ethene be prepared from 

Ethanol

Watch Video Solution

https://dl.doubtnut.com/l/_X2beHSJ3L0Kt
https://dl.doubtnut.com/l/_hSwqkdUd1Bw9
https://dl.doubtnut.com/l/_d0V4pQ6y5ZK4


8. How can ethene be prepared from 

Ethyl bromide ?

Watch Video Solution

9. Melting point of cis - But - 2 - ene is lower than that of

trans - But - 2 - ene. Give reason .

Watch Video Solution

10. Draw the structures of cis and trans Hex -2 - ene.

Watch Video Solution

https://dl.doubtnut.com/l/_N0gPQIQTWDHg
https://dl.doubtnut.com/l/_gqY7eXjakn7Z
https://dl.doubtnut.com/l/_t8OI2qldsU8P


11. Explain with the help of equation : Ozonolysis of

propene.

Watch Video Solution

12. Give a chemical test to distinguish between ethane and

ethene.

Watch Video Solution

13. What do you understand by perxide effect (Kharasch

effect) ?

Watch Video Solution

https://dl.doubtnut.com/l/_Bx08loJFEAUj
https://dl.doubtnut.com/l/_lmdpx47Q1Cqv
https://dl.doubtnut.com/l/_g80RJE8pUpsC
https://dl.doubtnut.com/l/_QKxk2MQoaqRK


14. What factor determines the stability of alkene ?

Watch Video Solution

15. Arrange the following alkenes in decreasing order of

stability : 

Watch Video Solution

CH3 − CH = CH − CH3, CH2 = CH2, CH3 − CH = CH2

https://dl.doubtnut.com/l/_QKxk2MQoaqRK
https://dl.doubtnut.com/l/_YgdwG2m5HTiO


16. 

Watch Video Solution

+O3
Zn

−−−−−−→
CH3COOH

? + ?

17. An alkene on treatment with HBr in presence of peroxide

can generate two types of free radicals

 and 

Predict the final product of the reaction and give reason.

Watch Video Solution

CH3 − C
∣

CH3

− CH2 − Br CH3 − C(CH3)
∣

Br

− CH2

https://dl.doubtnut.com/l/_KP2vHQkelksD
https://dl.doubtnut.com/l/_AAddiiAjkx1x


18. What happens when But - 2 - ene reacts with acidified

potassium permanganate solution ?

Watch Video Solution

19. You are provided with But - 2 - yne, how will you convert

it into : 

cis - But - 2 - ene

Watch Video Solution

20. You are provided with But - 2 - yne, how will you convert

it into : 

https://dl.doubtnut.com/l/_AAddiiAjkx1x
https://dl.doubtnut.com/l/_8euiV7PP8CYj
https://dl.doubtnut.com/l/_raiokkil9kpq
https://dl.doubtnut.com/l/_olwpVVHvd4W0


trans - But - 2 - ene

Watch Video Solution

21. An alkene  reacts with HBr both in the presence

and absence of peroxide to give the same product. Identify

the alkene.

Watch Video Solution

C4H8

22. Arrange ethane, ethene and ethyne in the order of

increasing acidity.

Watch Video Solution

https://dl.doubtnut.com/l/_olwpVVHvd4W0
https://dl.doubtnut.com/l/_RFG5OmeTzTm0
https://dl.doubtnut.com/l/_qEpvJKFuVYKN


23. Write the structures of the products A and B of the

following reactions : 

Watch Video Solution

HC ≡ CH
Na
−−→ A

CH3Br
−−−→ B

24. Write the structures of the products A and B of the

following reactions : 

Watch Video Solution

BrH2C − CH2Br
Alc .KOH
−−−−−→ A

NaNH2

−−−−→ B

25. Give a chemical test to distinguish between ethyne and

ethene.

https://dl.doubtnut.com/l/_a5vfNuY6iD5m
https://dl.doubtnut.com/l/_osZB8Nyy3yNM
https://dl.doubtnut.com/l/_ZYXCUrjSaCvN


Watch Video Solution

26. Out of benzene and toluene, which undergo nitration

easily and why ?

Watch Video Solution

27. Why does presence of a nifro group make the benzene

ring less reactive in comparison to the unsubstituted

benzene ring . Explain .

Watch Video Solution

28. What happens when Chlorine is passed through

benzene in the presence of sunlight and absence of halogen

https://dl.doubtnut.com/l/_ZYXCUrjSaCvN
https://dl.doubtnut.com/l/_hKZm2zEZvXP6
https://dl.doubtnut.com/l/_RgrvCy2rV0Ua
https://dl.doubtnut.com/l/_qks6oLjeCMeO


3 Mark Question

carrier ?

Watch Video Solution

1. Write the structures and names of products obtained in

the reactions of sodium with a mixture of 1-iodo-2-

methylpropane and 2-iodopropane.

Watch Video Solution

2. State Markownikov's rule. Using this rule, write the

reaction of propene with 

HCl

https://dl.doubtnut.com/l/_qks6oLjeCMeO
https://dl.doubtnut.com/l/_AJvp2UBS1b8N
https://dl.doubtnut.com/l/_cAI24FwCNDJ1


Watch Video Solution

3. State Markownikov's rule. Using this rule, write the

reaction of propene with 

Watch Video Solution

H2O

4. Complete the following reactions : 

Watch Video Solution

CH3CH2Br
Alc .KOH
−−−−−→

https://dl.doubtnut.com/l/_cAI24FwCNDJ1
https://dl.doubtnut.com/l/_puRvdNdp1Vo2
https://dl.doubtnut.com/l/_B1sw2bgAjyQa


5. Complete the following reactions : 

Watch Video Solution

CH3CH = CH2 + O3

Zn/H2O

−−−−→

6. Complete the following reactions : 

Watch Video Solution

CH2 = CH2 + H2O + [O]
Dil .KMnO4

−−−−−−−→

7. Write the structure of 3, 4 Dimethylhept - 3 - ene.

Watch Video Solution

https://dl.doubtnut.com/l/_ep1uJP0su0gZ
https://dl.doubtnut.com/l/_UOWlUFxkqgvC
https://dl.doubtnut.com/l/_cwr1waPN7Ung


8. Name the compounds obtaned by ozonolysis of 3 -

Methylpent - 2 - ene.

Watch Video Solution

9. Complete the following reactions : 

Watch Video Solution

CH ≡ CH
NaNH2CH3Br
−−−−−−−−→

10. Complete the following reactions : 

Watch Video Solution

CH ≡ CH
H2O ,HgSO4 /H2SO4

−−−−−−−−−−−−→

https://dl.doubtnut.com/l/_WDcFNdnsoFmz
https://dl.doubtnut.com/l/_DWn6hcAofR27
https://dl.doubtnut.com/l/_xlPGAkwfnh8X
https://dl.doubtnut.com/l/_N5WAK2CzmmyP


11. Complete the following reactions : 

Watch Video Solution

CH3C ≡ CH + H2

Pt
−−→ ?

H2

−−→

12. Write the mechanism of nitration of benzene.

Watch Video Solution

13. Arrange in the order of decreasing relavtive reactivity

with an electrophile and explain Toluene, p - Nitrotoluene, 1,

4 - Dinitrobenzene

Watch Video Solution

https://dl.doubtnut.com/l/_N5WAK2CzmmyP
https://dl.doubtnut.com/l/_YxsQQPzXNNJv
https://dl.doubtnut.com/l/_75geRJziKdZv
https://dl.doubtnut.com/l/_qPH6GUcikzMa


14. What is meant by delocalization of  electrons ? How

does it affect stability of benzene ?

Watch Video Solution

π

15. What are the conditions for a compound / species to be

aromatic according to Huckel 's rule ?

Watch Video Solution

16. How will you convert benzene into 

Acetophenone

Watch Video Solution

https://dl.doubtnut.com/l/_qPH6GUcikzMa
https://dl.doubtnut.com/l/_HaM3waqaYyqL
https://dl.doubtnut.com/l/_9U2o2OfMSYlL


5 Mark Question

17. How will you convert benzene into 

m - Chloronitrobenzene ?

Watch Video Solution

1. Define isomerism. Write all the structural isomers of

hexane  and arrange them in increasing order of

boiling points.

Watch Video Solution

(C6H14)

https://dl.doubtnut.com/l/_sjOJFWOkMkOd
https://dl.doubtnut.com/l/_fHWiPdTx08Nm


2. Write short note on 

Wurtz reaction

Watch Video Solution

3. Write short note on 

Kolbe's electrolysis

Watch Video Solution

4. Write short note on 

Ozonolysis

Watch Video Solution

https://dl.doubtnut.com/l/_F9bmQqFN8ta9
https://dl.doubtnut.com/l/_F6bPrYQ9TeEu
https://dl.doubtnut.com/l/_VRXLPde9JaQ8
https://dl.doubtnut.com/l/_ZgCQVIYOdXZt


5. Alkenes show geometrical isomerism while alkanes do

not. Give a suitable explanation.

Watch Video Solution

6. An alkene 'A' of molecular mass '28u' on treatment with

bromine gives a product 'B' The Compound 'B' on further

dehalogenation with zinc gives back 'A' Give the structurese

of 'A' and 'B' and also the sequence of reactions.

Watch Video Solution

7. An organic compound A with formula  on

treatment with alcoholic KOH gave two isomeric compounds

"B" and "C" with formula  . On ozonolysis,"B" gave only

C4H9Br

C4H8

https://dl.doubtnut.com/l/_ZgCQVIYOdXZt
https://dl.doubtnut.com/l/_Fqjcq0AbqatB
https://dl.doubtnut.com/l/_Dnh2QtyJHeQY


one product  while C gave two different

products.Identify the compounds A, B , and C

Watch Video Solution

CH3CHO

8. How will you convert Ethyne into 

1, 1, 2, 2 - Tetrachloroethane

Watch Video Solution

9. How will you convert Ethyne into 

Ethene

Watch Video Solution

https://dl.doubtnut.com/l/_Dnh2QtyJHeQY
https://dl.doubtnut.com/l/_TGVZHS8sLXSG
https://dl.doubtnut.com/l/_vRZL0YVIVozT


10. How will you convert Ethyne into 

Ethanal

Watch Video Solution

11. How will you convert ethyne to benzene ?

Watch Video Solution

12. How will you convert Ethyne into 

Sodium ethynide

Watch Video Solution

https://dl.doubtnut.com/l/_A2QtZuNdABUf
https://dl.doubtnut.com/l/_zJDG80twnWHi
https://dl.doubtnut.com/l/_bniKoRaKRM1h


Unit Test

13. Discuss the structure of benzene with an emphasis on

resonance and orbital pictures.

Watch Video Solution

1. Amongst the following which one has the maximum

boiling point ? N-Pentane, iso - pentane, neo - pentane.

Watch Video Solution

2. What is the number of  and  bonds in But - 3 - en - 1 -

yne?

σ π

https://dl.doubtnut.com/l/_0kgUrS2L6BqH
https://dl.doubtnut.com/l/_in0n1YnkCbeh
https://dl.doubtnut.com/l/_tHquvnothpgD


Watch Video Solution

3. Action of acetylene on dilute  gives:

Watch Video Solution

H2SO4 /dil.HgSO4

4. An alkene ‘A’ on ozonolysis gives a mixture of ethanal and

pentan-3-one. Write structure and IUPAC name of ‘A’.

Watch Video Solution

5. The nitro group in the benzene nucleus is ______ directing.

It ______ the reactivity of the benzene ring.

Watch Video Solution

https://dl.doubtnut.com/l/_tHquvnothpgD
https://dl.doubtnut.com/l/_qLvqg88aLImv
https://dl.doubtnut.com/l/_2oNrPjG4TbFW
https://dl.doubtnut.com/l/_1FxiiemDQFeI


6. Arrange the following alkenes in decreasing order of

stability : 

Watch Video Solution

CH3 − CH = CH − CH3, CH2 = CH2, CH3 − CH = CH2

7. Give a chemical test to distinguish between ethyne and

ethene.

Watch Video Solution

8. Melting point of cis - But - 2 - ene is lower than that of

trans - But - 2 - ene. Give reason .

Watch Video Solution

https://dl.doubtnut.com/l/_1FxiiemDQFeI
https://dl.doubtnut.com/l/_4y44gvg0yXje
https://dl.doubtnut.com/l/_l2hUUcHyjsK9
https://dl.doubtnut.com/l/_pRUCJcxxA2ci


9. Complete the following reactions : 

Watch Video Solution

CH3CH2Br
Alc .KOH
−−−−−→

10. Complete the following reactions : 

Watch Video Solution

CH3CH = CH2 + O3

Zn/H2O

−−−−→

11. Complete the following reactions : 

Watch Video Solution

CH2 = CH2 + H2O + [O]
Dil .KMnO4

−−−−−−−→

https://dl.doubtnut.com/l/_pRUCJcxxA2ci
https://dl.doubtnut.com/l/_qUaDXEE6a1We
https://dl.doubtnut.com/l/_MHTWaVykGJ4l
https://dl.doubtnut.com/l/_TAxj2VFUwhqk


12. What are the conditions for a compound / species to be

aromatic according to Huckel 's rule ?

Watch Video Solution

13. How will you convert Benzene to acetophenone ?

Watch Video Solution

14. An alkene 'A' of molecular mass '28u' on treatment with

bromine gives a product 'B' The Compound 'B' on further

dehalogenation with zinc gives back 'A' Give the structurese

of 'A' and 'B' and also the sequence of reactions.

https://dl.doubtnut.com/l/_TAxj2VFUwhqk
https://dl.doubtnut.com/l/_NgYlKW6xANO0
https://dl.doubtnut.com/l/_NX21NlndiFWF
https://dl.doubtnut.com/l/_y3N1slZQYIP1


Watch Video Solution

15. Why is benzene extra ordinarily stable though it contains

three double bonds?

Watch Video Solution

16. How can we convert ethyne into benzene ?

Watch Video Solution

https://dl.doubtnut.com/l/_y3N1slZQYIP1
https://dl.doubtnut.com/l/_576vktAiOtIE
https://dl.doubtnut.com/l/_KgEwW5CGWxHQ

